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Question Id : 68634043241 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the sereen. This included dialogues, musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However, colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634043242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340170801. 1

686340170802. 2

686340170803. 3
686340170804. 4

Question Number : 2 Question Id : 68634043243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| )

. selfies
3. besties
4, talkies

Options :

686340170805. 1
686340170806. 2
686340170807. 3
686340170808. 4



Question Number : 3 Question Id : 68634043244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing’ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
686340170809. 1
686340170810. 2

686340170811. 3
686340170812. 4

Question Number : 4 Question Id : 68634043245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

[ ]

. synchronization
3. adhering
4. business
Options :
686340170813. 1
686340170814. 2

686340170815. 3
686340170816. 4

Question Number : 5 Question Id : 68634043246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :



686340170817. 1
686340170818. 2
686340170819. 3
686340170820. 4

Question Id : 68634043241 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s, film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues, musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634043242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340170801. 1

686340170802. 2

686340170803. 3
686340170804. 4

Question Number : 2 Question Id : 68634043243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

[ ]

. selfies
3. besties
4. talkies

Options :

686340170805. 1
686340170806. 2
686340170807. 3
686340170808. 4

Question Number : 3 Question Id : 68634043244 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

[ )

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340170809. 1
686340170810. 2
686340170811. 3
686340170812. 4

Question Number : 4 Question Id : 68634043245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action mn the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business
Options :
686340170813. 1

686340170814. 2
686340170815. 3



686340170816. 4

Question Number : 5 Question Id : 68634043246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

[ )

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340170817. 1
686340170818. 2
686340170819. 3
686340170820. 4

Sub-Section Number : 2
Sub-Section Id : 6863401416
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634043247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.
A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. m the southwest of England
D. in Wistinan's Wood 1n Dartmoor National Park

LABCD

| )

DEBA
3.B.D.A.C
4.C,A.D,B

Options :

686340170821. 1
686340170822. 2
686340170823. 3
686340170824. 4



Question Number : 6 Question Id : 68634043247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. m the southwest of England

D. m Wistman's Wood in Dartmoor National Park

LABCD

| )

BPE, B A
3.B.DAC
4. C.A.D.B
Options :
686340170821. 1
686340170822. 2

686340170823. 3
686340170824. 4

Question Number : 7 Question Id : 68634043248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy
3. Cartography
4. Topography

Options :

686340170825. 1
686340170826. 2
686340170827. 3
686340170828. 4

Question Number : 7 Question Id : 68634043248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?
1. Epigraphy

2. Calligraphy

L]

. Cartography
4. Topography

Options :

686340170825. 1
686340170826. 2
686340170827. 3
686340170828. 4

Question Number : 8 Question Id : 68634043249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

| B

. sycophantic

%]

. disruptive
4. obsequious

Options :

686340170829. 1
686340170830. 2
686340170831. 3
686340170832. 4

Question Number : 8 Question Id : 68634043249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic
3. disruptive
4. obsequious
Options :

686340170829. 1
686340170830. 2



686340170831. 3
686340170832. 4

Question Number : 9 Question Id : 68634043250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill m the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside, during

| )

. besides. beside

Lad

. during. beside
4. with. on

Options :

686340170833. 1
686340170834. 2
686340170835. 3
686340170836. 4

Question Number : 9 Question Id : 68634043250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill m the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside, during
2. besides, beside
3. during. beside
4. with, on
Options :
686340170833. 1
686340170834. 2

686340170835. 3
686340170836. 4

Question Number : 10 Question Id : 68634043251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Word Tvpe of pronoun
A [whart I. jreflexive
B. jmyself 1. |relative
C. |his 1. hindefinite
D. [somewhere IV, |possessive

Choose the most appropriate answer from the options given below:

1. A-II. B-1. C-IV, D-III

[ ]

CA-LBAILL C-ITL D-IV

L]

AT B-L C-IV, D-II
4. A-IV, B-1I, C-I, D-II

Options :

686340170837. 1
686340170838. 2
686340170839. 3
686340170840. 4

Question Number : 10 Question Id : 68634043251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Word Type of pronoun
A twhat I jreflexive
B. lmyself II. kelative
C. fhis II1. jindefinite
D._ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-1. C-IV, D-III

| ]

AT BHIILL C-T1, D-IV
3. A-IIL B-I, C-IV, D-II
4. ATV, B-II, C-I, DI

Options :

686340170837. 1
686340170838. 2
686340170839. 3
686340170840. 4



Question Number : 11 Question Id : 68634043252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

2

.16

4, 22

Options :

686340170841. 1
686340170842. 2
686340170843. 3
686340170844. 4

Question Number : 11 Question Id : 68634043252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

2

.16

4, 22

Options :

686340170841. 1
686340170842. 2
686340170843. 3
686340170844. 4

Question Number : 12 Question Id : 68634043253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify
s e W W S

1.0.18

[ ]
=

4,-2.6

Options :

686340170845. 1
686340170846. 2
686340170847. 3
686340170848. 4

Question Number : 12 Question Id : 68634043253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Simplify

09-[23-32-(73-54-3.7)]

1.0.18

[ ]
=

4,-2.6

Options :

686340170845. 1
686340170846. 2
686340170847. 3
686340170848. 4

Question Number : 13 Question Id : 68634043254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L1775
2. 10:9
3. 114:113
4. 196:187

Options :

686340170849. 1
686340170850. 2
686340170851. 3
686340170852. 4

Question Number : 13 Question Id : 68634043254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340170849. 1
686340170850. 2
686340170851. 3
686340170852. 4

Question Number : 14 Question Id : 68634043255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1.2 5,780

| B

. € 7,805

3.2 7.850

4, Z 8,750



Options :

686340170853. 1
686340170854. 2
686340170855. 3
686340170856. 4

Question Number : 14 Question Id : 68634043255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per anmum, the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.7 5.780
2.3 7805
3.2 7.850
4. T 8,750
Options :
686340170853. 1
686340170854. 2

686340170855. 3
686340170856. 4

Question Number : 15 Question Id : 68634043256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 18 years

Options :

686340170857. 1
686340170858. 2
686340170859. 3
686340170860. 4

Question Number : 15 Question Id : 68634043256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys 1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he iz 8 years older to the youngest of them.

1. 24 years

|

. 25 years
3. 26 years
4. 18 years
Options :
686340170857. 1
686340170858. 2

686340170859. 3
686340170860. 4

Question Number : 16 Question Id : 68634043257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below 1s the statement followed by two conclusions numbered I and 1L

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not mvest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340170861. 1
686340170862. 2
686340170863. 3
686340170864. 4

Question Number : 16 Question Id : 68634043257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and I

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
II : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340170861. 1
686340170862. 2
686340170863. 3
686340170864. 4

Question Number : 17 Question Id : 68634043258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

A

Fig (x)

7P

Options :

686340170865. 1
686340170866. 2
686340170867. 3
686340170868. 4

Question Number : 17 Question Id : 68634043258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

A

Fig (x)

IR

Options :

686340170865. 1
686340170866. 2
686340170867. 3
686340170868. 4

Question Number : 18 Question Id : 68634043259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system, if 2=15, 4=18. 6 =39 then 10 =7

1. 105

| B
[y
=
e

4.54

Options :
686340170869. 1



686340170870. 2
686340170871. 3
686340170872. 4

Question Number : 18 Question Id : 68634043259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system, if 2=15, 4=18. 6 =39 then 10 =7

1. 105

| B

104
3. 89
4.54

Options :

686340170869. 1
686340170870. 2
686340170871. 3
686340170872. 4

Question Number : 19 Question Id : 68634043260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the mirror image of the given combination

"ANS4WMG3"
LEOMWERCUA
LEDWMPSNVY
3.3GWMt2 MY
1L ECWMP2UY

Options :
686340170873. 1
686340170874. 2

686340170875. 3
686340170876. 4

Question Number : 19 Question Id : 68634043260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"ANS4WMG3"
LEDMWAZMA
2.EDWMPSNV
3.3GWMt UV
4L ECWMP2 MY

Options :

686340170873. 1
686340170874. 2
686340170875. 3
686340170876. 4

Question Number : 20 Question Id : 68634043261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In you were born on 6™ November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2. Wednesday

3. Tuesday

4, Friday
Options :
686340170877. 1
686340170878. 2

686340170879. 3
686340170880. 4

Question Number : 20 Question Id : 68634043261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6™ November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2

. Wednesday

LFN]

. Tuesday

=Y

. Friday

Options :

686340170877. 1
686340170878. 2
686340170879. 3
686340170880. 4

Question Number : 21 Question Id : 68634043262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ )

. Stationary Satellite
3. Geostationary Satellite

4, INSAT
Options :
686340170881. 1
686340170882. 2

686340170883. 3
686340170884. 4

Question Number : 21 Question Id : 68634043262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite
2. Stationary Satellite

3. Geostationary Satellite

4, INSAT



Options :

686340170881. 1
686340170882. 2
686340170883. 3
686340170884. 4

Question Number : 22 Question Id : 68634043263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Aluminium company Location
A BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KOEAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV. D-II

| ]

CA-IL B-IV, C-I, D-TTI

LFS]

AL B-IV, C-1. D-1I
4. A-IL B-1, CIV, D-III

Options :

686340170885. 1
686340170886. 2
686340170887. 3
686340170888. 4

Question Number : 22 Question Id : 68634043263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Aluminium company Location
A BALCO [ HIRAKUND
B. [HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV. RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV, D-II

[ ]

CA-IL B-TV, C-1, D-TIT
3. AL B-IV, C-1, D-I
4. A-II B-1, C-IV, D-1I

Options :

686340170885. 1
686340170886. 2
686340170887. 3
686340170888. 4

Question Number : 23 Question Id : 68634043264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340170889. 1
686340170890. 2
686340170891. 3
686340170892. 4

Question Number : 23 Question Id : 68634043264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known ag

1. Decorum

[ ]

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340170889. 1
686340170890. 2
686340170891. 3
686340170892. 4

Question Number : 24 Question Id : 68634043265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society 1M1 [Dayanand Saraswati
D. [Social Sevice League IV, [Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. AL B-IV. C-11. D-I

[ ]

AL B-IV, C-1. D-1I
JAIVBENL CIDMU
4. A-II B-IV, C-1, D-1II

Options :

686340170893. 1
686340170894. 2
686340170895. 3
686340170896. 4

Question Number : 24 Question Id : 68634043265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Ramakrishna Mission IT. IN.M Joshi
C. |Servant of Indian society II1. |Davanand Saraswati
D. [Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIIL B-IV, C-I1. DI
2. AT B-IV. C-I.D-IT
3. A-IV.B-III, C-1. D-I
4. A-IL B-IV, C-1. D-III

Options :

686340170893. 1

686340170894. 2

686340170895. 3
686340170896. 4

Question Number : 25 Question Id : 68634043266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave 1s known as

1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre

Options :

686340170897. 1

686340170898. 2

686340170899. 3
686340170900. 4

Question Number : 25 Question Id : 68634043266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave 1s known as

1. Seismic zone

b2

. Focus

L¥ 5]

. Photosphere
4. Epicentre

Options :

686340170897. 1
686340170898. 2
686340170899. 3
686340170900. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part B: Physical Education

686340852
2

Online
Mandatory
75

75

300

Yes

0

1
6863401417
Yes

null

Question Number : 26 Question Id : 68634043267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which period Suryanamaskar was performed more as a religious duty than today. a more physical exercise

or training?

1. Vedic Period

| )

. Early Hindu period
3. Later Hindu period
4. Medieval period

Options :

686340170901. 1
686340170902. 2
686340170903. 3
686340170904. 4



Question Number : 26 Question Id : 68634043267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ T T YU R &1 &R Sad ARG Tafafd a1 UiRiamn ¥ sifée enfie sdo & =0 1 faal
ST Y12

1. 3fd® Bra
fe~g ®1a 9 ugd
e PP ae

4. HADIA

[

L]

Options :

686340170901. 1
686340170902. 2
686340170903. 3
686340170904. 4

Question Number : 27 Question Id : 68634043268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The winner of the first ancient Olympic was:

1. Koroebus Zialo

[

. Coroebus fabelo

L]

. Koroibos Elis
4. Coroebus Anthony

Options :

686340170905. 1
686340170906. 2
686340170907. 3
686340170908. 4

Question Number : 27 Question Id : 68634043268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ud YA Sfciud &1 faoldr ATl

i B i oy Y

1. iRlgdd dld
2. PRIEEY Bl
3. PRIgaY Uferd
4. DRI TUHT

Options :

686340170905. 1
686340170906. 2
686340170907. 3
686340170908. 4

Question Number : 28 Question Id : 68634043269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following philosophy emphasizes on "problem solving'?

1. Realism

[

. Idealism
3. Pragmatism
4. Naturalism
Options :
686340170909. 1
686340170910. 2

686340170911. 3
686340170912. 4

Question Number : 28 Question Id : 68634043269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o o 9 19 1 <RH-3E R G R 99 ST 82
1. TUaTS
. SfTexiarg
 FAERAG
4. Yepfdarg

Options :
686340170909. 1

[

L]



686340170910. 2
686340170911. 3
686340170912. 4

Question Number : 29 Question Id : 68634043270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who 1s known as the 'Father of Idealism' in Philosophy?
1. Parker Browne
2. Plato
3. Aristotle
4. Edward Thorndike

Options :

686340170913. 1
686340170914. 2
686340170915. 3
686340170916. 4

Question Number : 29 Question Id : 68634043270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR § "31ERIaTg & 9% & AW I [SHaE! S 91 82
1. YRS s34
il
IR

_USds YHas®

| )

L

=Y

Options :

686340170913. 1
686340170914. 2
686340170915. 3
686340170916. 4

Question Number : 30 Question Id : 68634043271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following objective of physical education according to educationists carries too much of
idealism?

1. Ethical Character
2. Worthy use of leisure time
3. Neuromuscular Coordination
4. Organic Power and Health
Options :
686340170917. 1
686340170918. 2

686340170919. 3
686340170920. 4

Question Number : 30 Question Id : 68634043271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fRrenfadi & sraR RIS g & FafaRad Sewdl § 3 fegd sexiarg &1 il g2
1. Al afe
2. Rt gwg o1 IRd guanT

3. Higuei ud diAersl o ¥H-ay (RIEp R TH-qY)
4. oid Iifad U9 @Ry

Options :

686340170917. 1

686340170918 2

686340170919. 3
686340170920. 4

Question Number : 31 Question Id : 68634043272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Endomorph body type according to sheldon is
1. A muscular body
2. A pear shaped body
3. An Apple shaped body
4. A lean and thin body

Options :



686340170921. 1
686340170922. 2
686340170923. 3
686340170924. 4

Question Number : 31 Question Id : 68634043272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIS & AR TG YRING WEAIUH S UBR B gl ol
1. IO TRR

TTRTCT & PR BT IR

A9 b PR BT IRN

| )

[#5]

=

. GSd1 Udall IRR

Options :

686340170921. 1
686340170922. 2
686340170923. 3
686340170924. 4

Question Number : 32 Question Id : 68634043273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

which of the following is not the technique of motivation?

1. Cognitive Approach

b2

. Intuitive Approach
3. Pedagogical Approach
4. Facilitation Approach

Options :

686340170925. 1
686340170926. 2
686340170927. 3
686340170928. 4

Question Number : 32 Question Id : 68634043273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 ¥ & F 91 TF TR &1 d&-1® ol 67
IFTES EPHI
. 3{d: URTHD UEdId
 X&fTOr TaTa
4. FRIHR0 Fd1d
Options :
686340170925. 1
686340170926. 2

686340170927. 3
686340170928. 4

fa—y

[

L]

Question Number : 33 Question Id : 68634043274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Playing Racket games like Tennis. Badminton. Squash ete, have similar part whole involved and in such
cases 1s quiet obvious.

1. Goal Setting
2. Effect of Exercise
3. Transfer Effect
4. Anxiety
Options :
686340170929. 1
686340170930. 2

686340170931. 3
686340170932. 4

Question Number : 33 Question Id : 68634043274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340170929. 1
686340170930. 2
686340170931. 3
686340170932. 4

e

Question Number : 34 Question Id : 68634043275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who said that " Man is by nature a social animal " ?

1. Auguste

[ ]

. Aristotle

LF¥]

. Herbert Spencer
4. Karl Marx

Options :

686340170933. 1

686340170934. 2

686340170935. 3
686340170936. 4

Question Number : 34 Question Id : 68634043275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT WA U@ AHToe 1ol 8 g% [ $e1 g
1. 3T
2.
3. BREC AR
4. T H1E

Options :



686340170933. 1
686340170934. 2
686340170935. 3
686340170936. 4

Question Number : 35 Question Id : 68634043276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a feature of culture?

1. Culture is static

[

. Culture 1s diverse

L]

. Culture 1s 1deational
4. Culture is shared by a group of people

Options :

686340170937. 1
686340170938. 2
686340170939. 3
686340170940. 4

Question Number : 35 Question Id : 68634043276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ o I o1 i Tepld @] favidr 981 82

 Hepld RR B 8

Hepla ¥ faftraar gl §
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Options :

686340170937. 1
686340170938. 2
686340170939. 3
686340170940. 4

—
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Question Number : 36 Question Id : 68634043277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a characteristic of a primary social group according to C.H. Cooley?

1. Close relationship

[

. Small in size

L]

. Self-dependence among members
4. Common commitments among members
Options :
686340170941. 1
686340170942. 2

686340170943. 3
686340170944. 4

Question Number : 36 Question Id : 68634043277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. U9 3 B IR Mg T I B i R uufie gmifore 99 #1981 § 2

1. 9y Ha
2. HTHR H Bt
3. gawl & 7Y SfdS Wdadl
4. grdeIe Ufaagdl

Options :

686340170941 1

686340170942. 2

686340170943. 3
686340170944. 4

Question Number : 37 Question Id : 68634043278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

shall always be remembered as pioneer for developing of a sports system in the form of Pan-
Hellenic festival.

1. Greece
2. Rome
3. France
4. Italy

Options :



686340170945. 1
686340170946. 2
686340170947. 3
686340170948. 4

Question Number : 37 Question Id : 68634043278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bl U7 gaH® digR & ¥4 & Us Td yunel [as i o & e gaen spofi =a d arg
fepar S|
1. 9
Rk

4, el

Options :

686340170945. 1
686340170946. 2
686340170947. 3
686340170948. 4

| ]

[#5]

Question Number : 38 Question Id : 68634043279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1s the maintenance of relatively stable conditions in the body's internal enviroment produced by
body's regulatory process.

1. Homogenasis
2. Homeostasis
3. Adaptation
4. Stability
Options :
686340170949. 1
686340170950. 2

686340170951. 3
686340170952. 4

Question Number : 38 Question Id : 68634043279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. R
2. it

3. 3P
4. RRqn

Options :

686340170949. 1
686340170950. 2
686340170951. 3
686340170952. 4

Question Number : 39 Question Id : 68634043280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Name the component which protect and regulates various body processes.
1. Fats
2. Protein Carbohydrates
3. Carbohydrates
4, Vitamins and minerals

Options :

686340170953. 1
686340170954. 2
686340170955. 3
686340170956. 4

Question Number : 39 Question Id : 68634043280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafte RIS Uidharati &1 TR&U Ud U0 &= aTd e &1 19 gdigu?

1. a8l
2. JicH

3. PIERIEST
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Options :



686340170953. 1
686340170954. 2
686340170955. 3
686340170956. 4

Question Number : 40 Question Id : 68634043281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Glycogen - Storage can be used by an indiviual during

1. Vigorous Exercise

[ )

. Heated discussion
3. Meditation

4. Normal Routine

Options :

686340170957. 1
686340170958. 2
686340170959. 3
686340170960. 4

Question Number : 40 Question Id : 68634043281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& IR U afad gRI A ® e SR &1 3uanT f&ar o g
1. Wed SO
UIRGR §89

3,94

4. gy fe=at

Options :

686340170957. 1
686340170958. 2
686340170959. 3
686340170960. 4

| ]

Question Number : 41 Question Id : 68634043282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name the microbes those are hundred percent disease-causing organism-
1. Fungi

2. Bacteria

L¥ 5]

. Viruses
4. Protozoa

Options :

686340170961. 1
686340170962. 2
686340170963. 3
686340170964. 4

Question Number : 41 Question Id : 68634043282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G SiaTup3fl & A1 ARET S i id=rd A9 SR oild o)
1. Ta® (B
gt
SCIEES]
4, THCTSII3T

Options :

686340170961. 1
686340170962. 2
686340170963. 3
686340170964. 4

| )

L]

Question Number : 42 Question Id : 68634043283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Major aim of transitional period is -

1. Recreation

(B

. Stablizing performance

3. Achieving top form

=y

. Recovery and relaxtion

Options :
686340170965. 1



686340170966. 2
686340170967. 3
686340170968. 4

Question Number : 42 Question Id : 68634043283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o1l PTd BT T2 Fex4 gl
1. BARGH
TekH B R H

3= USRI &1 AT Al

[ ]

L]

=

QU Ud fayry

Options :

686340170965. 1
686340170966. 2
686340170967. 3
686340170968. 4

Question Number : 43 Question Id : 68634043284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s related with Gene Doping.

1. Intravascular manipulation of blood
2. Psycho active compound with sleep inducing properties
3. Transfer of polymers of Nucleic acids
4. Through operation

Options :

686340170969. 1

686340170970. 2

686340170971. 3
686340170972. 4

Question Number : 43 Question Id : 68634043284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340170969. 1
686340170970. 2
686340170971. 3
686340170972. 4

Question Number : 44 Question Id : 68634043285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Dr. Hans Reindell is associated with-

1. Continuous training

b2

. Interval Training
3. Circuit Training
4. Cross Training

Options :

686340170973. 1

686340170974. 2

686340170975. 3
686340170976. 4

Question Number : 44 Question Id : 68634043285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



686340170973. 1
686340170974. 2
686340170975. 3
686340170976. 4

Question Number : 45 Question Id : 68634043286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Knock-knee is a condition in which the knees are closer to each other while the feet remain apart when a
person is in a standing position. Knock-knee is also known as

1. Pes Planus

| B]

. Genu Valgum
3. Gemu Varum

4, Bow knees

Options :

686340170977. 1
686340170978. 2
686340170979. 3
686340170980. 4

Question Number : 45 Question Id : 68634043286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340170977. 1
686340170978. 2
686340170979. 3
686340170980. 4

| )
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Question Number : 46 Question Id : 68634043287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following movement does not occur at Neck Joint?

1. Flexion

[

. Rotation

L]

. Hyper Extension

4. Adduction

Options :

686340170981. 1
686340170982. 2
686340170983. 3
686340170984. 4

Question Number : 46 Question Id : 68634043287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 1 O @ i ifaal TR & SIS WAl Bl 62
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4. TS
Options :
686340170981. 1
686340170982. 2

686340170983. 3
686340170984. 4

Question Number : 47 Question Id : 68634043288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The Core content of Biomechanics is made of following diverse subjects except
1. Biology
2. Physics
3. Psychology

4. Engineering

Options :
686340170985. 1



686340170986. 2
686340170987. 3
686340170988. 4

Question Number : 47 Question Id : 68634043288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oI Tt Bt Ja JEaL, P BIS B [l fewai A 15 8

1. Silg faqim
fifgest

T
+. Soffafen

Options :

686340170985. 1
686340170986. 2
686340170987. 3
686340170988. 4

[ ]

L]

Question Number : 48 Question Id : 68634043289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of Research?

1. Fundamental Research

[

. Typical Research
3. Applied Research

4. Action Research

Options :

686340170989. 1
686340170990. 2
686340170991. 3
686340170992. 4

Question Number : 48 Question Id : 68634043289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340170989. 1
686340170990. 2
686340170991. 3
686340170992. 4

Question Number : 49 Question Id : 68634043290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is a Type of Probability Sampling?
1. Tudgmental Sampling
2. Snowball Sampling
3. Multistage Sampling
4. Quota Sampling
Options :
686340170993. 1
686340170994 2

686340170995. 3
686340170996. 4

Question Number : 49 Question Id : 68634043290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 & T B 91 U FUIdd 1 BT YHR §°
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Options :



686340170993. 1
686340170994. 2
686340170995. 3
686340170996. 4

Question Number : 50 Question Id : 68634043291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

" The scope or extensiveness of the study in terms of Variables. no. of subjects & the geographical area within
which data is to be calculated”, comes under which body of Report Writing?

1. Hypothesis of the study
2. Lumitations of the study
3. Significance of the study
4. Delimitations of the study

Options :

686340170997. 1

686340170998. 2

686340170999. 3
686340171000. 4

Question Number : 50 Question Id : 68634043291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340170997. 1
686340170998. 2
686340170999. 3
686340171000. 4

Question Number : 51 Question Id : 68634043292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sargent Jump test is used to measure component of Physical fitness.

1. Speed

[ ]

. Muscular Endurance

L]

. Balance
4, Power
Options :
686340171001. 1
686340171002. 2

686340171003. 3
686340171004. 4

Question Number : 51 Question Id : 68634043292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TERiC O <& BT 9. TRIRG g & Yo I HIUA & ferg feoar &l g
1. 77
2. TURiT FE &1

4
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Options :

686340171001. 1
686340171002. 2
686340171003. 3
686340171004. 4

Question Number : 52 Question Id : 68634043293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following test item is used to measure abdominal strength and endurame in AAHPER youth
fitness test?

1. Sit ups
2. Pull ups
3. Standing long jump

4, Shuttle Run

Options :
686340171005. 1



686340171006. 2
686340171007. 3
686340171008. 4

Question Number : 52 Question Id : 68634043293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171005. 1
686340171006. 2
686340171007. 3
686340171008. 4

Question Number : 53 Question Id : 68634043294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of validity refers to the extent to which the test questions are representative of the skills in the
specified domain?

1. Content Validity
2. Face Validity
3. Criterion Validity
4. Construct Validity
Options :
686340171009. 1
686340171010. 2

686340171011. 3
686340171012. 4

Question Number : 53 Question Id : 68634043294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340171009. 1
686340171010. 2

686340171011. 3
686340171012. 4
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Question Number : 54 Question Id : 68634043295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following objective is not achieved through intramural?

1. Improne the physical effieiency of all students

[ )

. To provide new rules and advanced techniques
3. To act as an mstrument of talent selection and grooming
4. To develop social qualities like co-operation and group harmony
Options :
686340171013. 1
686340171014. 2

686340171015. 3
686340171016. 4

Question Number : 54 Question Id : 68634043295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171013. 1
686340171014. 2
686340171015. 3
686340171016. 4

Question Number : 55 Question Id : 68634043296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As per FINA's standards an Olympic-size Swimming pool must have the following measurements?

1. 50m in length by 20m Wide

2

. 40m in length by 25m Wide
3. 50m 1 length by 25m Wide
4. 40m in length by 20m Wide

Options :

686340171017. 1
686340171018. 2
686340171019. 3
686340171020. 4

Question Number : 55 Question Id : 68634043296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fOh-1T (FINA) & HF&] & IR 3ldite o foru drurdrd @1 a9+ 9 foifad g e
1. TS 505 TI8TS 208,
2. FHETS 40T, TSI 254
3. @HTs S0t TISTE 254,
4, TS 4081, TISTS 204

Options :

686340171017. 1
686340171018. 2
686340171019. 3
686340171020. 4

Question Number : 56 Question Id : 68634043297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a management process. when we try to let the employees perform the allocated duties. this function of
management in known as:

1. Planning

2. Organising

3. Directing

4. Controlling
Options :
686340171021. 1
686340171022.2

686340171023. 3
686340171024. 4

Question Number : 56 Question Id : 68634043297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yau ufeear & 3iaid 3 . forad eraRt andfed orf o1 fharaT axar g ueuT & GAUEEY
U ST B

1. FareH
4, Frgam
Options :
686340171021. 1
686340171022. 2

686340171023. 3
686340171024. 4

| )
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Question Number : 57 Question Id : 68634043298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which amongst the following personalities 1s known as the " Guru " of Management?

1. Peter Drucker

| B

. Henri Fayol
3. Ludwig von Bertalanffy

4. Fred J. Weston



Options :

686340171025. 1
686340171026. 2
686340171027. 3
686340171028. 4

Question Number : 57 Question Id : 68634043298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & T o I Afdad $I Hae= T 91 I oH1 a1 87
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Options :

686340171025. 1
686340171026. 2
686340171027. 3
686340171028. 4

| )

L

Question Number : 58 Question Id : 68634043299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following award was introduced in 19857

1. Maulana Abul Kalam Azad Trophy

| B

. Rajiv Gandhi Khel Ratna Award

LIF¥]

. Arjun Award
4. Dronacharya Award

Options :

686340171029. 1
686340171030. 2
686340171031. 3
686340171032. 4

Question Number : 58 Question Id : 68634043299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171029. 1
686340171030. 2
686340171031. 3
686340171032. 4

| B

Question Number : 59 Question Id : 68634043300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which University has won the Maulana Abul Kalan Azad Trophy maximum number of times?

1. Panjab University. Chandigarh

| B

. Guru Nanak Dev University. Amritsar
3. Maharishi Dayanand University, Rohtak
4. Punjabi University . Patiala

Options :

686340171033. 1

686340171034. 2

686340171035. 3
686340171036. 4

Question Number : 59 Question Id : 68634043300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Sd Bam TS 2io!, g Aerfaenad = Faifes ar sidl 82
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Options :



686340171033. 1
686340171034. 2
686340171035. 3
686340171036. 4

Question Number : 60 Question Id : 68634043301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which modern Olympic game was not held due to I¥! World war?
1. vitt

¥ \_rth

3 Iwurth
4. vtk

Options :

686340171037. 1
686340171038. 2
686340171039. 3
686340171040. 4

Question Number : 60 Question Id : 68634043301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171037. 1
686340171038. 2
686340171039. 3
686340171040. 4

Question Number : 61 Question Id : 68634043302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 4x100m relay race. 4 athletes of cach team participate and exchange batton. What are this measurement of
batton exchange zone at each scratch line?

1. 30 Mitrs. Whole

| ]

. 10m at front. 20 mt. behind
3. 15m at front. 15 mt. behind
4. 20m at front. 10 mt. behind

Options :

686340171041. 1
686340171042. 2
686340171043. 3
686340171044. 4

Question Number : 61 Question Id : 68634043302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171041. 1
686340171042. 2
686340171043. 3
686340171044. 4

Question Number : 62 Question Id : 68634043303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Neeraj Chopra is winner of Olympic championship. Silver medalist of world championship and Diamond
league in Men's Javelin throw. From the following select his personal best throw.

1. 86.76 m
2.9848 m
3. 8994 m

4.9023m

Options :

686340171045. 1
686340171046. 2
686340171047. 3
686340171048. 4

Question Number : 62 Question Id : 68634043303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rt FiYsT sieUe a1 fgold 8. [0y =i R 3k srds i g ohr o gl 3
YIS HIa e & 2oid deeb faeiar 1l g1 RS Jus] gR1 Bl 1Tg Jaiad g &1 8 § & gH1d S|

1. 86.76 HI.

2.08.48 Hi.
3.89.04 HI.

4.90.23 Hi.

Options :

686340171045. 1
686340171046. 2
686340171047. 3
686340171048. 4

Question Number : 63 Question Id : 68634043304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a way of getting out in the game of Cricket?

1. Hitting the ball twice

[ )

. Obstructing the field

3. Ball Tampering

4. Time Out

Options :



686340171049. 1
686340171050. 2
686340171051. 3
686340171052. 4

Question Number : 63 Question Id : 68634043304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171049. 1
686340171050. 2
686340171051. 3
686340171052. 4

Question Number : 64 Question Id : 68634043305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s not the function of NSNIS Patilia?

1. To promote sports in the country

| B

. To promote high calibre coaches
3. To organise Rural sports
4. Refresher Course for in service coaches

Options :

686340171053. 1
686340171054. 2
686340171055. 3
686340171056. 4

Question Number : 64 Question Id : 68634043305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171053. 1
686340171054. 2
686340171055. 3
686340171056. 4

Question Number : 65 Question Id : 68634043306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the first President of Indian Olympic Association.

—

. Maharaja Bhupender Singh

[ )

. Maharaja Yadavinder Singh

Lad

. Sir Dorabji Tata
4. Mr. Om Prakash Mehra

Options :

686340171057. 1
686340171058. 2
686340171059. 3
686340171060. 4

Question Number : 65 Question Id : 68634043306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT i 99 & gus e HiF 92
1. TERTST YR &8
2. HERTS Jrafdex 148
3. I ERIGSl eTeT
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Options :
686340171057. 1



686340171058. 2
686340171059. 3
686340171060. 4

Question Number : 66 Question Id : 68634043307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: In the perspective of physical education the most appropriate explanation of Naturalism 1s that
physical activity is an instrument of self preservation and man's urge for it is innate.

Reason R: Play way learning brings desirable change in child's behaviour and ensures growth and
development.

In the light of the above statements. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A
3. A s true but R is false

4. A is false but R is true

Options :

686340171061. 1
686340171062. 2
686340171063. 3
686340171064. 4

Question Number : 66 Question Id : 68634043307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171061. 1
686340171062. 2
686340171063. 3
686340171064. 4

Question Number : 67 Question Id : 68634043308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: A large number of nerve fibres hold together form a nerve. Through these nerves. messages
travel from one part of the body to another.

Reason R: A nerve cell 1s made up of the cell body. which contains the nucleus and a long structure called the
axomn.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :
686340171065. 1



686340171066. 2
686340171067. 3
686340171068. 4

Question Number : 67 Question Id : 68634043308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B EEE A GURI Ul T TP HHYA (Assertion A) G Wﬁ%@ﬁ%ﬁmmw (Reason R) &
U

SHTUBUT A: F51 T2 1 AT dq U I1Y T U@ dES1 a41d © | 59 dEH13 gRI 969, IRR &
U@ U ¥ g YT o € )
WR:?ﬁam&r.ﬁﬁwﬁﬁﬁwsﬁm%mﬁw 3R TS et Y= ol U HeT ol 6.
T STl §

IR FYA & 3AdlD |, Fid feu 0 fawedi 1 9 et 3R &1 999 S |
1. ARREA I T IR R A DI TS IR &

ASRRIAITTE IRR AT TS ARG &

| ]

AT S, AR 3FA T

L]

AL dfPTR I

oy

Options :

686340171065. 1
686340171066. 2
686340171067. 3
686340171068. 4

Question Number : 68 Question Id : 68634043309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: Some people wrongly think that ozone 1s the refreshing air. we breath it at the seaside. It is. in
fact a poisonous kind of oxygen.

Reason R: Air pollution was first brought to a sharp focus when air pollution epidemics took place 1s Los
Angels (1940) and London (1952).

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

686340171069. 1
686340171070. 2
686340171071. 3
686340171072. 4

Question Number : 68 Question Id : 68634043309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340171069. 1
686340171070. 2
686340171071. 3
686340171072. 4



Question Number : 69 Question Id : 68634043310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Increase i strength of ligaments and tendons and hypertrophy of muscles are the long term
effects of exercise.

Reason R: A series of sustained muscle contraction have short term and long term effects on muscular system
depending upon the nature and duration of activity.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A
3. A s true but R 1s false
4. Ais false but R is true

Options :

686340171073. 1

686340171074. 2

686340171075. 3
686340171076. 4

Question Number : 69 Question Id : 68634043310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I S Py fqu T T TP AYHYUA (Assertion A) G Wﬁﬁ@ﬂ%ﬂmmw (Reason R) G
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PRI R: A $ Ul U6 s1afd & rTaR AiufEl & o= 1 Ue e & HiFuel SR iR Y
FIfcre a1 <Te FIfers THa Bid & |

SWRIGd BYH & el 8, < 34U U fasedi § I |8t 9wk &1 98 iU

A SRR 90§ IR R A DI G8! U §

—

A SRR I AT 3R R, A GEl IR e ©

2

3 AT AiPIR SEa T

iy

AT AfPTR I T



Options :

686340171073. 1
686340171074. 2
686340171075. 3
686340171076. 4

Question Number : 70 Question Id : 68634043311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Two athletes have same start in 50mts sprint test but Athlete-A takes lead by Athlete-B after first
10mts.

Reason R: Athlete-A has good Acceleration ability. If the object speeds up or travels over a given distance in
a shorter amount of time. then there is acceleration.

In the light of the above statements. choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R is not the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

686340171077. 1
686340171078. 2
686340171079. 3
686340171080. 4

Question Number : 70 Question Id : 68634043311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (40 T §: U 3IHYT (Assertion A) & w0 U [T § 0l GIRT 3HD HRUT (Reason R) &
LSy gt

HTYDYA A: 50 Hicx B BRI IS H &l TYTie U GOH 4I$ WRY B & R Wy 10 Hex & gy1q
QYA 3, TYdic & ¥ ggd glied R adl g

TRUTR: Ty 3 T 35! @01 amadl g1 afe $i5 g%, & 715 g3l & digdl 9 o8 999 1§ a0 S € dl
T @R BT S & |

SWRIGd BYF & 3HTdip H, 9 AU 70 fasedl T 9 98! Ior &1 994 Sife|
1. ARREA TR R R AP TSI TR &

2. A SRR GHI G § 3R R, A & Ul AR 6l &
3. AT S, dfaR 39T ®
4 ASHOE. APIR TS

Options :

686340171077. 1
686340171078. 2
686340171079. 3
686340171080. 4

Question Number : 71 Question Id : 68634043312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R

Assertion A: A researcher expressed the height of samples as tall. short or medium in his research but he can't
describe so much about the height of samples.

Reason R: The qualitative data only tells us about something but does not tell the extent of that something.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :

686340171081. 1
686340171082. 2
686340171083. 3



686340171084. 4

Question Number : 71 Question Id : 68634043312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 U 40 T §: U 3UBYT (Assertion A) & =0 U [ARIT © dl GIRT 3HD PRUT (Reason R) &
04

SHTUBYT A: U HTHYM al A Ul REd T e $1 Sdlg ®l adl. Sicl 3R 9990 & &9 O e
[T | ORIt i Ty o @ H HfYe qui g1 fba|
BRI R: UNHSD 3H{bs. bad (Bl & &R J Gdld 6. R 390 (KR & aR H el gard |

SRIad YA & HaD |, Hd [Eu U [wedi § I Tt 30 &1 999 DIl |
1. ARREA 9T E IR R AT Gel RSN &

| B)

A SRRIA AT SRR AT TS I TE ©

ATTe. dfeAR 3@

[#5]

4 ASTIE. APIRTTE

Options :

686340171081. 1
686340171082. 2
686340171083. 3
686340171084. 4

Question Number : 72 Question Id : 68634043313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Indiana motor fitness test was developed in United State of America 1s 1943 and some test
itemes were revised in 1944 for the high school boys and girls.

Reason R: Test items of Indiana motor fitness test are pull ups or straddle chin-ups. floor push-ups. vertical
jump and standing broad jump.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

| B}

. Both A and R are true and R is not the correct explanation of A
3. Ais true but R is false
4. A 1s false but R is true

Options :

686340171085. 1

686340171086. 2

686340171087. 3
686340171088. 4

Question Number : 72 Question Id : 68634043313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ilaiwﬁrtmﬁ%’ TP HHYA {Assert:onA)%Wﬁﬁ@ﬁ%ﬁwmw(Reason R)a?_
O
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Edd e dYT G Ha |

SWRIGd BYF & 3HTdid H, 9 AU 70 faswedl T 9 98! Io) &1 994 Dife|
1. ARREA TR IR R AP TSI TR &

2. A SRR GHI G § 3R R, A & Ul AR 6l &
3. AU S, AfpT R 3@ ®

4 ASTIE. APIRTT S

Options :



686340171085. 1
686340171086. 2
686340171087. 3
686340171088. 4

Question Number : 73 Question Id : 68634043314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the sequential order for conducting the Ancient Olympic Games.

A, Start of the events
B. March-past

C. Sacrifice

D. Oath

E. Assembly

Choose the correct answer from the options given below:
1.BE,D,AC
2.E.D.C,B.A
3.E.C.D.B,A
4.D.A.B.C.E

Options :

686340171089. 1
686340171090. 2
686340171091. 3
686340171092. 4

Question Number : 73 Question Id : 68634043314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T dte Gl & SEeH $ gy 8 FE W &1 $HER saiyd $ifeg

A vfogefaf ot g
B. HTd - URE

C. |fet

D. IUY-TBU

E. QM

e fau 7Y fawedt # 9 Tel 3R o1 90 Sifie:

1.BE. D AC

-2

CE DL COB A
3.E.C.D.B.A
4.D.A,B.C.E

Options :

686340171089. 1
686340171090. 2
686340171091. 3
686340171092. 4

Question Number : 74 Question Id : 68634043315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With reference to the OCEAN (Big five Theory of personality). arrange the below given behavioural traits in a
sequential order.

A. Anxious. nervous

B. Friendly. cooperative

C. Active. Sociable

D. Responsible Well organised
E. Creative, Imaginative

Choose the correct answer from the options given below:

1.B,C, A D, E

[

E.AD.C.B
el DDA B E
1. ED C B A

Options :

686340171093. 1
686340171094. 2
686340171095. 3
686340171096. 4



Question Number : 74 Question Id : 68634043315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. (0) . (0) 3. (B) T (A) TH. (N)- (Afdad @1 Uid fawaiet & Rrgra) & g< 1 e <1 715 sagsiRe
DI HUMER Jlag

A. T, gamar gan
B. fiHad. 9@
C. gfepy. fiaaR

D. fSTHIeR, gogafeyd
E. YT, Hed-reiia

A fau 7Y fawedt # 9 Tel 3R &1 90 Sifig:

1.B.C.AD.E

b2

.E.A.D.C.B
3.C.D.AB.E
4.E.D,C,B,A

Options :

686340171093. 1
686340171094. 2
686340171095. 3
686340171096. 4

Question Number : 75 Question Id : 68634043316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following traditional games in a sequential order from North to South India.

A, Malkhamb
B. Gatka

C. Jallikattu

D. Kambala

E. Kalaripayattu

Choose the correct answer from the options given below:

1LABCDE

b2

.B,.D,A C.E
3.CEBAD
4 B.A.D.E.C

Options :



686340171097. 1
686340171098. 2
686340171099. 3
686340171100. 4

Question Number : 75 Question Id : 68634043316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 TRO Wdl & URd & Io S T SHam fa2n &t 3R, PuraR ogafyd Sifey

A HOdHE
B. TICpI

C' I g (=4

D. BT
E. HARIYYT
i fau 7Tt fawedl O § el STR &1 99 Fiult:

1LABCHDE

2B DA C.E
3.C.E.B.A.D
4. B,A.D,E.C

Options :

686340171097. 1
686340171098. 2
686340171099. 3
686340171100. 4

Question Number : 76 Question Id : 68634043317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following muscles in a sequential order from upper to lower body.

A, Gluteus Medius

B. Rectus Femoris

C. Gastro Enemius

D. Sterno Cleido Mastoid
E. Rectus Abdominus

Choose the correct answer from the options given below:
1LLAB.C.D.E
2B, DB A
3JCCILE A B
4 D.E.A.B.C

Options :

686340171101. 1
686340171102. 2
686340171103. 3
686340171104. 4

Question Number : 76 Question Id : 68634043317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e araufEl @ TR - F1ER SR I -E & »H § Hafyd Sifeu|

A. TIcH mfsag

B. Y& H B

C. TRel 3Ty

D. Bl Hfael-aegs
E. ¥&q Taal—ag

- fau Y fawedt & ¥ Hel ST o 90 Sivie:

1LABCDE

| ]

B, DB A
3.C.D.E.A.B
4 D.EAB,C

Options :

686340171101. 1
686340171102. 2
686340171103. 3
686340171104. 4



Question Number : 77 Question Id : 68634043318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the case of drowmg. if there is a breathimg problem then what will be the sequence of first Aid steps?

A. Kneel at the side of the patient who is lying in prone position.

B. Press on the lower side of the back with both hands with all your strength.

C. Repeat these movements 16 to 17 times in a minute until the patient start breathing.
D. After every two seconds ' stop ' to allow air to rush into the lungs.

Choose the correct answer from the options given below:

1. A-B-C-D

| )

. A-C-B-D
3. A-B-D-C
4. A-C-D-B

Options :

686340171105. 1
686340171106. 2
686340171107. 3
686340171108. 4

Question Number : 77 Question Id : 68634043318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g B fufd &, yra-guw g+ W uryftie geradn o faftrsr =@=ur &1 oF o1 g

A UT & 9 cic gU I & &1 4 g2 & gd a0

B. 3G gt drebd ¥ ST g1l ¥ Uls o (A= fg W gard il

C. 3O I & UH e H 16 T 17 IR SIgU ofd do [ T YA AT URY AT e g
D. Udl® ¢l Y o d1g 3d dlid gdl Bhai § ol Td|

i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;

1. A-B-C-D

[ ]

.A-C-B-D
3. A-B-D-C
4. A-C-D-B

Options :

686340171105. 1
686340171106. 2
686340171107. 3
686340171108. 4



Question Number : 78 Question Id : 68634043319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to number of playmg members of a team (excluding stand by players) arrange the following games
in descending order.

A Volley Ball
B. Foot Ball
C. Kho-Kho
D. Kabaddi

E. Basket Ball

Choose the correct answer from the options given below:

1.B.C,DLAE

2

A, C,D,B.E
3. D,E.C.AB
4. C.B.AE.D

Options :

686340171109. 1
686340171110. 2
686340171111. 3
686340171112. 4

Question Number : 78 Question Id : 68634043319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ¢ I |- dTd [Eansdl &t I (@61 96 gU arsal o 8isax) & YR IR 49 719 i ged
§U % I ogafRyd S

A didl gid

B. Bc &l

C. @il

D. pas!

E. §Rdc dld
i f4U 77U fasedl § 9 98l SR &1 99 St

1.B.C. DA E

2

A D B, E
3. D.E.C.A.B
4. C,B.AE.D

Options :
686340171109. 1



686340171110. 2
686340171111. 3
686340171112. 4

Question Number : 79 Question Id : 68634043320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With reference to the establishment year of the Institutes / Associations. arrange them in chronological order.

A. National council for teacher education

B. Indian Olympic Association

C. National service scheme

D. National Cadet corps

E. Laxmi Bai National institute of physical education, Gwalior.

Choose the correct answer from the options given below:

1.B,E.A.C,D

| )

A C.DLE. B
3.B.D.E.C.A
4. C.D.B.AE

Options :

686340171113. 1
686340171114. 2
686340171115. 3
686340171116. 4

Question Number : 79 Question Id : 68634043320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RO T4 & T 1 9 SRIeye/ATa! & HIaPHTHR HaRyd S|

A. fRraes fRram giveg

B. s g9

C. Har gierHm

D. FoC IR

E. A& 913 9T QRIS e S=T, iR

= feu e fasredi § 9 98l IR &1 994 Sifve;

1.B.EA.C.D
2.A.C.,D.E.B
3.B.D.E.C.A
4.C.D.B.A.E

Options :

686340171113. 1

686340171114. 2

686340171115. 3
686340171116. 4

Question Number : 80 Question Id : 68634043321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In Athens. new born was thoroughly examined by the state authorities and if found a weakling. It
was exposed to Mount Tygris to become food to beasts and birds.

Statement II: Ethics. Aesthetics. Mathematics and Athletics comprised complete education in Athens.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

-2

. Both Statement I and Statement IT are false

L¥ 5]

. Statement I is true and Statement I is false

4. Statement [ 15 false but Statement II 1s true

Options :

686340171117. 1
686340171118. 2
686340171119. 3
686340171120. 4

Question Number : 80 Question Id : 68634043321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

HYF 1:.08-T § Tgurd 2eisi &1 ey ifeial grT yeil yer H3ieror fiar @mar un 3k $HR uig
ST UR 36 STell SIaR] 3R Ulégml & $MeR & au Arde Ry ur sie fur Sfidr 4
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SWIG HY- & 3Taiie H, (= fau 7Y fdeedl § 9 9a8 Suged SR &1 904 SIfee:
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YA 1 3R 11 S 7T §

YA 1 el & Cifcpd DY 1T TTe7d §

YT 1 7T § A DU 11 T 8

b2

Laa

=y

Options :

686340171117. 1
686340171118. 2
686340171119. 3
686340171120. 4

Question Number : 81 Question Id : 68634043322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Theory of faculty was discarded on the basis that a faculty (Thinking. memory perception) can
not be considered as a whole and each faculty may be having several divisions to form a unit.

Statement II: The generalisation theory holds that transfer of training takes place in the form of ideals.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true and Statement II is false
4. Statement I is false but Statement II 1s true
Options :
686340171121. 1
686340171122. 2

686340171123. 3
686340171124. 4



Question Number : 81 Question Id : 68634043322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PHYTI: Bbee! b RIGId B 58 YR TR @IRel B 301 741 U1, 73 T Bbee| &1 AYUl g] GH1
I&dl & AR TP hdhec! & U Uh S&15 811 & o0 &5 (8dioH 8 9d &
FUT 1. THGATE Hgid T & b Ui &1 sxdiorul, Segi & U e

QRIS BYH & HTclid 1, A1 f3U U fdsedi T I 9 Sugad STk &1 94 S
1. YT 1 3R EHI T &

2. BYF 1 3R 11 ST 3T §
3. PUT 1 I & Afh BYT I 3T ©

4 FUI AT e AT PUTII TT &

Options :

686340171121. 1
686340171122. 2
686340171123. 3
686340171124. 4

Question Number : 82 Question Id : 68634043323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Arrangement of fibers differs in various muscles. In some muscles the fibers are parallel to the
long axis of the muscles. in some they have narrow attachment.

Statement IT: Skeletal muscles always act in groups rather than singly.

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true and Statement II is false

4, Statement [ 15 false but Statement II is true

Options :
686340171125. 1



686340171126. 2
686340171127. 3
686340171128. 4

Question Number : 82 Question Id : 68634043323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
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[ ]

HYT1 IR 11 SHT S §
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4 FUI AT e AT PUTII TT &

Options :

686340171125. 1
686340171126. 2
686340171127. 3
686340171128. 4

Question Number : 83 Question Id : 68634043324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Hepatitis ' B ' 1s a potentially serious form of liver inflamation due to infection by Hepatitis ' B '
Virus.

Statement II: Hepatitis 'B' vaccine's outer layer 1s covered by protein and Hepatitis 'B' surface Antigene.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

-2

. Both Statement I and Statement IT are false

. Statement I is true and Statement I is false

L¥ 5]

4. Statement [ 15 false but Statement II 1s true

Options :

686340171129. 1
686340171130. 2
686340171131. 3
686340171132. 4

Question Number : 83 Question Id : 68634043324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. HYF 13RI SHT 3 ©
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A DY T AP T DU IA T

Options :

686340171129. 1
686340171130. 2
686340171131. 3
686340171132. 4



Question Number : 84 Question Id : 68634043325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: If the direction of acting force is known, stability can be increased by moving the line of gravity
as close as possible to the edge of the base where the force 1s expected.

Statement IT: Body weight 1s indirectly proportional to stability.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true and Statement II is false

4. Statement I i1s false but Statement IT is true

Options :

686340171133. 1
686340171134.2
686340171135. 3
686340171136. 4

Question Number : 84 Question Id : 68634043325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYE 1. I fpar<iiad 90 3 320 14 3. T sy W@ § a1 94d 8 9@ YR & [$IR & Pea
o &Y FRRA & 9211 &l 9%l 6. 5al 99 I HY&T BT 9l 8

HYT I1: TRR 1 o IVAE =9 Y R & I eI 8

SIS Y & HTaile |, A< 23U U fdeedi T I 9 Sugad SRk &1 99 S

1. PYA IR T &

2. HYT1 AR 11 SHT ST S

3. PYTI IR APTHYTII 3T &

4, YT T ¢ AP U I TA &

Options :

686340171133. 1
686340171134. 2
686340171135. 3
686340171136. 4



Question Number : 85 Question Id : 68634043326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: An alternative casual hypothesis is descriptive hypothesis. which reference causation but
assumes the different characteristics of behaviour.

Statement II: The Null hypothesis is the prediction that there is no difference between or among the group.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I 1s true and Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

686340171137. 1
686340171138. 2
686340171139. 3
686340171140. 4

Question Number : 85 Question Id : 68634043326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁ’iﬁﬁqm%

PYF I UH dB 0 AHWH TG, FUHTHS IS 6. ol S-SR &l Tefild Sl & afed
asR &I fafir fagryars & aFdl &
HYT LR IRGed 98 Hiawah e o F i o8 SR T8l §

SURIG Y & 3HTaiid 1, H1d 2y 7Y fdeedi T I 9 Sugad SR &1 99 B
1. YT AR EHT T &

2. PYF 1 3R 11 ST 3T ©
3. PUTI I € AfhT BYT I 3T ©

4. FYT IS AfPT B I T §

Options :



686340171137. 1
686340171138. 2
686340171139. 3
686340171140. 4

Question Number : 86 Question Id : 68634043327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Comprehensiveness of a test means it should be vast enough to assess maximum aspects of one's
ability. If a test is comprehensive its means it will be more stable and reliable.

Statement IT: If a test 1s administered by two different persons to the same student under same condition and
the results remain similar, test will be called valid.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement II are false
3. Statement I 1s true and Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340171141. 1
686340171142. 2
686340171143. 3
686340171144. 4

Question Number : 86 Question Id : 68634043327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬂ%aﬁﬂﬁﬁﬁwﬁ' :

HY 1. U W& B sl o 31 § o ol ot amar & sifdesan ggqsil &1 siiead &1 & [au
Ug Ui g Ofe ®Ig Udie 29 © df S9&T Haad ¢ & g 3ifde fRR ok fayg-a g

FYF I T1S Tl TR0 &1 -3 Sfaadl gRI UE of FRuUfd & U &1 81 | G 31 orar 8 8
OfUTTH T T8d § o T80 B a4 HET o

SWRIF DY & 3H1alld 1, H1d 2y 7Y f[deedi ¥ 9 9 Suge STk &1 99 B
1. YT AR I ST T &
HYF 1 AR AT 3T §

YT I A PTSUT1 3 T §

[ ]

L¥ ]

4 YT AT S APTIHUT I T

Options :

686340171141. 1
686340171142.2
686340171143. 3
686340171144. 4

Question Number : 87 Question Id : 68634043328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The English word 'Culture' is derived from the latin term ' Cult or Cultus' which means:

A. Tilling

B. Cultivating

C. Root

D. Refining and worship

Choose the most appropriate answer from the options given below:
1. B and D only
2. Aand B only
3.A. Band Conly

4. A. B and D only

Options :

686340171145. 1
686340171146. 2
686340171147. 3
686340171148. 4

Question Number : 87 Question Id : 68634043328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
iUl & ¥ag Pear’ (SpI) DI e HINT & e ‘Bee I ey I forar 7 § forweT s 6:
A. gl 9l
B. Wil AT

C. S
D. GRS d d Yulleh=H]

19 f3u e fasedl § 9 &l SUged IR &1 999 BIfe;
1.$aAB 3R D
2. PIA AR B
3.%adA. B3R C
4. $TAA.B AR D

Options :

686340171145. 1
686340171146. 2
686340171147. 3
686340171148. 4

Question Number : 88 Question Id : 68634043329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With specific reference to exhalation during respiration process. in human body, which of the following
statements are NOT true?

A. Tt occurs when the size of the thoracic cavity decreases and the pressure outside increases.
B. External inter costal muscles relax and the intra costal muscles contract.

C. The volume of thoracic cavity increases and the air pressure decreases.

D. Contraction of diaphragm further increases the size of thoracic cavity.

E. The ribs are pulled immwards and the size of the thoracic cavity is reduced.

Choose the most appropriate answer from the options given below:

1. A.B.E only

[

.Cand D only
3.B.C and D only
4. C and E only

Options :

686340171149. 1
686340171150. 2
686340171151. 3
686340171152. 4



Question Number : 88 Question Id : 68634043329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T IRR T 49 Wiha1 & SRE 919 B1s- @1 fhariafe & [y de §, Fefafea g e s wayA
RUEHE

A. U8 T4 BId §. 51d 9&i10 81 &1 PR PH 81 oIl ¢ 3R 96 &1 aa1d 96 olldl ¢ |

B. ST ScxeIecd Huig i fRfde g1 oid & #iR oid: SexepRed AiuREl figs o €|

C. TEEI P 31U §¢ oIl § SR a7 &1 Ga1d HH 6l ol 6 |

D. ST & e ¥ & 161 &I HPR 3R §¢ Al &
E. THierdl $iar @1 SR &9 Sl € SiR 981 781 31 R & 8l ol & |

i< fau Y fdeedl § ¥ 999 Iugad IR &1 99 Hifol:
1. PAUA, C
2. $auD.E
3. $ddB. D
4. PIUAE

Options :

686340171149. 1
686340171150. 2
686340171151. 3
686340171152. 4

Question Number : 89 Question Id : 68634043330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are not true with reference to the environmental factors and sports
performance.

A. Temperature of the environment approaches the skin and deep body.
B. Performance of an athlete in high altitude 1s not affected.

C. It 15 important to achieve thermal acclimatizat on prior to the competition.
D. Humudity and air velocity not directly affect the sport performance of an athlete.

Choose the most appropriate answer from the options given below:
1. A& D only
2.C & B only
3.B & Donly

4.B & C only

Options :



686340171153. 1
686340171154. 2
686340171155. 3
686340171156. 4

Question Number : 89 Question Id : 68634043330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wdl UeRH 9 a1yl FR&I & G| § Fefifed s s S e wad Tl §

A GTATaR0T &7 A9 @dl & TS 5 3{1dT 6 dUT TR & 3iex odT &
B. Y@ Fams W Gt &1 ugei- uyifdd el giaT o

C. WdIRTaT ¥ ugd yHd SHod Bl U A1 SGURD g

D. 91 471 4T 3Tgdl (Gars! & YasiH &1 d18 =9 I yuifad 9g1 ol 9

19 f3u e fasedl § 9 &l SUged IR &1 999 BIfe;
1. HATATD
2.Pad CdB
3.PddBID
4. HIGABTC

Options :

686340171153. 1
686340171154. 2
686340171155. 3
686340171156. 4

Question Number : 90 Question Id : 68634043331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true with reference to the formative and summative evaluation.

A. Formative assessment 18 used to know the weakness and strength of the students.

B. Diagnostic Evaluation is a part of summative evaluation and mostly used to enhance the performance.
C. Objective evaluation is used for formative as well as for summative evaluation.

D. Self-evaluation is a part of summative evaluation in which we can select a player.

Choose the most appropriate answer from the options given below:

1.B & D only

| )

.A & C only
3.A&Bonly

4.B & C only



Options :

686340171157. 1
686340171158. 2
686340171159. 3
686340171160. 4

Question Number : 90 Question Id : 68634043331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT d FATED Jeie & dey RiEfed sl d S s I aa 3|

A, TS 1o BT YN S=d1 &1 HHGIR a1 G & &+ & fore foar smar gl
B. "al-® Ui, TN Jedid- PI ol § aY1 SUHT YaI HeRH & g & (oY [ha1 o g

of mgﬁ‘gﬂﬁﬂﬁﬁﬂﬂﬁﬂ%ﬁﬁﬂ%gﬂ%%%qmm%
D. W4 &1 YUl GRS i1 1 U YT ¢ ford 81 US [Ears! &1 g-1d S g 5 |

i fau U fdeedl § ¥ 998 Iugad Ik &1 99 SHifei:
1.$hddBID
2. PaAATC
3. PAAATB
4. PAUBTC

Options :

686340171157. 1
686340171158. 2
686340171159. 3
686340171160. 4

Question Number : 91 Question Id : 68634043332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the objectives of Extra murals competitions?

A. To Promote social. cultural and economic development through sports.
B. To achieve high performance at highest level of the tournament.

C. To focus on fitness. wellness and health aspects of children.

D. To develop feeling of integration with other institutions.

Choose the most appropriate answer from the options given below:

1. A B.D only

[ ]

.A.B. Conly
3.B.C.D only
4. A C.Donly
Options :
686340171161. 1
686340171162. 2

686340171163. 3
686340171164. 4

Question Number : 91 Question Id : 68634043332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafea d Y e uER ufgifar s Ssg s s I8

A. Wil & gRI UiHIfIh, I¥pide g foxii faerd &
B. WaHiRaT & @Y IR 3= UgxH &I UM

C. 91 &1 YfY. Garadl 9 W Uggsil W dfsd g
D. GO YT & 1Y UHIHI0] 1 U1 fdp R S

19 f3u e fasedl § 9 &l SUged IR &1 999 BIfe;
1. Had A.B.D
2. PAUA.B.C
3.$ddB.C.D
4. PAUA. C.D

Options :

686340171161. 1
686340171162. 2
686340171163. 3
686340171164. 4

Question Number : 92 Question Id : 68634043333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following are the basic rules while performing yogasanas?

A. Yoga should be practiced empty stomach.

B. Relax for 10 seconds at least after each asana.

C. Relax till 40 breath counts.

D. Take sufficient fluid i.e. water. Tea or coffee before practicing yogasana.

Choose the most appropriate answer from the options given below:

1. A& C only

| )

.B & D only
3.A&Bonly
4. C & D only

Options :

686340171165. 1
686340171166. 2
686340171167. 3
686340171168. 4

Question Number : 92 Question Id : 68634043333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad & 3 e o9 & SR yd Fm s I g

A TR ETel U B3] 9gu

B. YD 39 & 918 HH I HH 10 b s DI [d4H Difolw

C. 40 GGl TP HRH B

D. T 34 & Ugd vaid 6 § avd ugred oY UM, =g 91 &It 31fe o

i fau U fdeedl § ¥ 998 Iugad Ik &1 99 SHifei:
1.hadAdC
2. HAABTD
3. PAAATB
4.9adCdD

Options :

686340171165. 1
686340171166. 2
686340171167. 3
686340171168. 4




Question Number : 93 Question Id : 68634043334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For promotion of sports and improvement of standards in the country- Sports Authority of India was
established. Choose from the following options which are not the objectives of SAL.

A. To enforce all rules and regulations of IOC.

B. Develop and manage sports infrastructures.

C. Encourage research and development in sports and games.
D. To provide technical and other assistance.

E. To mamtam the highest ideals of amateurism.

Choose the most appropriate answer from the options given below:
1. A& E only
2.B & C only
3.D & C only
4.D & A only
Options :
686340171169. 1
686340171170. 2

686340171171. 3
686340171172. 4

Question Number : 93 Question Id : 68634043334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<X T Wl B §gral 4 U7 30 GHR B & 17 YR Ta Wil &1 1 31 715 Fafiiad
fgeedl o 9 S § YR el WIiHeRul & 3580 Tol 62

A, 313 3. 91 qoc) & g+t Aol g fafawt & ] &
B. €d & HoYd ¢id DI Udfed 9 faeb ¥ &1
C. W §g & [db1H F SJHUH DI §¢rdl &1

D. dPA1D] d 30 Teadl Ua el
E. 3Oaariieul & 3= TSR &l TIUd BT

19 fau T fasedl § 9 Had Sugad IR &1 999 BIfe;
1. FATATE
2. PaABTC
3.PadDAC
4, HGADTA

Options :




686340171169. 1
686340171170. 2
686340171171. 3
686340171172. 4

Question Number : 94 Question Id : 68634043335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

Match the sports festivals given below:

LISTI LISTIT
Phacacian game| 1. [Zeus
[Nemea festival | I1. [Posedoin
Isthmi festival |1 [Odysseus
Pvihia festival | IV, [Appollo

Ofo|w)=

Choose the correct answer from the options given below:

1. A-IV. B-II. C-I, D-III

|

A-IILL B-1. C-I1. D-IV
3. A-I1, B-1. C-III. D-IV
4. A-1. B-II. C-III, D-IV

Options :

686340171173. 1
686340171174. 2
686340171175. 3
686340171176. 4

Question Number : 94 Question Id : 68634043335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

Tt 1 T
A [BURIE 1 [
B. [ @er | n [oEidisq
C EREidER |u [sfeRem
D. [q=iim AR | 1v. [3ar
frrafelad faseal & 3 98l IR @1 991 DI -

1. A-IV. B-II. C-1, D-III

| o

A-IILL B-1L C-I1, D-IV
3. A-Il, B-1. C-III. D-IV
4. A-1. B-I1. C-III, D-IV

Options :

686340171173. 1
686340171174. 2
686340171175. 3
686340171176. 4

Question Number : 95 Question Id : 68634043336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Experimentalism Drdewyism after the name of John Dewey| 1 |Self-Leamning
Trail and error learning is II. |Intellectualism
A ristotle put greater stress on III. |Kretchmer
Proposed body classification on the basis of shape and size | IV, |Pragmatism

T REE

Choose the correct answer from the options given below:

1. A-I. B-II., C-III. D-IV

| )

A-II, B-II1, C-IV. D-1
3. A-III B-IV. C-1. D-II
4. A-IV. B-1. C-II, D-III

Options :

686340171177. 1
686340171178.2
686340171179. 3
686340171180. 4



Question Number : 95 Question Id : 68634043336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

Tt T 11
A [SF S @ M 1R JEEIG geadla L [ed O dgn
B. [gtemr 3 71 9 e I [sifgahd
C. pRg ofiw Ta e IIL. PR3
D. [eRR @1 & li®0), 3eR 4 d 1Y o YR G2 uiquried | V. [Hriaed (33deR
fFafaRad fdwedl O O U1 IR &1 994 I :

1. A-I. B-II. C-II1. D-IV

| ]

. A-ILL B-III. C-IV, D-1
3. A-IIT, B-IV. C-1. D-II
4. A-IV, B-1, C-11, D-III

Options :

686340171177. 1
686340171178. 2
686340171179. 3
686340171180. 4

Question Number : 96 Question Id : 68634043337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Parasympathetic Nervous Svstem| I [Helps us in controlling muscle movements and balance
B. [Peripheral Nervous Svstem II. [Bodv's House Keeping Svstem
C. |Central Nervous System IT1. |Contains 43 pairs of Nerves (Spinal and Cranial nerves
D. [Cerebellum IV, |Contains bramn and spinal cord

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| E)

. A-IL B-III. C-IV. D-1
3. A-IIT, B-IV. C-1. D-II
4, A-IV, B-1, C-11, D-III

Options :

686340171181. 1

686340171182. 2
686340171183. 3



686340171184. 4

Question Number : 96 Question Id : 68634043337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

Tqe I T I
A [IRRyrgdies 9y OeH | 1 [Eded 9 Ji9URiig gadal & H3a0 H Tedd
B. [iRb@di@ dE | 1. RRR & @ @ @ Sed
C. [2g dHdl o= 111 [dEaTaHl & 43 SIS 8141 (FT3-d 3R Si-4d dEHI)
D. [afeag V. [AT%Tss 9 B%c.s ol T 8iH T
fFrafeiad faseal o 9 Tel TR &1 997 S -

1. A-I. B-II. C-II1. D-IV

| ]

. A-ILL B-II1. C-IV, D-1
3. A-III, B-IV, C-I, D-II
4. A-IV. B-1, C-II. D-III

Options :

686340171181. 1
686340171182.2
686340171183. 3
686340171184. 4

Question Number : 97 Question Id : 68634043338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

e LIST I (Descriptions)
A [Penalrv Stroke I When position is unclear, two opposite plavers tap their sticks above the ball to
: restart play
B. [Flick II. [Free one on one shot
C. [Bully I11. |Using wrists to put force behind the ball to raise it
D. [Tackle IV, |Defensive effort to take ball away from the opponent.

Choose the correct answer from the options given below:
1. A-I. B-IV. C-1I. D-ITI
2. AL B-III. C-1. D-IV
3. A-IIL B-II. C-IV, D-I

4. A-IV. B-1. C-III. D-II



Options :

686340171185. 1
686340171186. 2
686340171187. 3
686340171188. 4

Question Number : 97 Question Id : 68634043338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 (BTPT BT

- = 11 (Ferawom)

N SRR . ﬂa;%ﬁ%wﬁw quid: T el gldl, dl GHI RIarst ald & HUR [edh ol @ dL Wal
B. [Ta® 11 [3H 95 @1 [Rufd | %1 2e
. [g 111 [a1c & UTe dellg 9§ SR RN aId I 38T
D. [eda V. [[aR1ET 4§ §1e ] B o SRR Bl
fAafaRad foweal © O Og! SR &1 994 iy

1. A-L. B-IV, C-I1, D-III

(B

A-IL B-1III. C-1, D-IV

AL B-I1. C-IV, D-1

5]

4. A-IV, B-1. C-III. D-II

Options :

686340171185. 1
686340171186. 2
686340171187. 3
686340171188. 4

Question Number : 98 Question Id : 68634043339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Name of the test items) LIST II (Objective of the test)
A |Chin-up 1. |Explosive Strength of leg
B. [Shuttle-run 11, |Speed and agility
C. [Soft-ball throw IT1. |[Explosive Power of shoulder muscle
D. [Standing broad Jump IV, |Muscular strength of the shoulder

Choose the correct answer from the options given below:

1. A-IV, B-I. C-III. D-II

| ]

AL B-IIL, C-1L D-IV
3. A-IV, B-11, C-I11, D-I
4. A-I1. B-111. C-1. D-IV

Options :

686340171189. 1
686340171190. 2
686340171191. 3
686340171192. 4

Question Number : 98 Question Id : 68634043339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 (S & ATH) T 1 (T & 3e24)

A [ 3m 1L [IRf &1 f[auplcs ®gd & fog
=red 3 11. fifd SR =gedn

A aia Ul | 111 [&Y & A19uRl & [ehicd ad
RCTST 918 o] | IV, [ &f J1guel didd

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IV. B-I. C-III. D-II

CIRE

| o

AL B-ILL C-1L D-IV
3. A-IV. B-1I, C-II1. D-I
4. A-I1. B-1II. C-1. D-IV

Options :

686340171189. 1
686340171190. 2
686340171191. 3
686340171192. 4



Question Number : 99 Question Id : 68634043340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Name of Plaver) LIST IT (Arjun Award)

A Manoj Bhargava I |Swimming-1974
B. [Limba Ram 11 [Kabaddi-2019
C. |Ajay Thakur IT1. Hockey-2020
D. [Shivender Pratap Santosh Singh | IV |Archery-1991

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

| )

A-ILL B-IV, C-I1II. D-1
3. A-L. B-IV, C-II, D-III
4. A-I1, B-111. C-1. D-IV

Options :

686340171193. 1
686340171194. 2
686340171195. 3
686340171196. 4

Question Number : 99 Question Id : 68634043340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 (RAATE! ®191H) vﬁﬂn(&lﬁﬂm

A [FHS YFlG . [aut-1974

B. [fomn 11 [BeEl-2019

C. [arem 313 II1. [BTeh1-2020

D. [[rdg udig gdiy &8 | 1v. [diiarmeil-1991
FafaRad o eal © O 9gl SR & 994 DI

1. A-IL. B-I1. C-IV, D-III

|

A-IL B-IV, C-I11. D-1
3. A-L. B-IV. C-II, D-III
4. A-IL. B-III. C-I. D-IV

Options :

686340171193. 1

686340171194. 2
686340171195. 3



686340171196. 4

Question Number : 100 Question Id : 68634043341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST T (Names of Institutes) LIST IT (Official Venue)
Sh. Hanuman Vvayam Prasarak Mandal| 1. [Lucknow
Christian College of Phvsical Education] 11 [Calcutta
Indian Olympic Association IT1. |Amaravati

[Amateur Kabaddi Federation of India | IV. [New Dellu

REE

Choose the correct answer from the options given below:

1. A-IIL B-1II, C-IV. D-I

| E)

. A-ILL B-IV, C-I. D-III
3. A-IIT, B-1, C-IV. D-II
4. A-IV, B-1II. C-I. D-II

Options :

686340171197. 1
686340171198. 2
686340171199. 3
686340171200. 4

Question Number : 100 Question Id : 68634043341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
Tt 1 (FRITHT & ATH/E) T I (ST S T)
I;

|81 g3 SO TER® Had SICRES
(h 15T BIcTel S fhTaihd Tl | 11 [eih]
HRd Y HIdiiUs ¥9 111 |3FRTad!
HRdID o] 99 V. [ feeml

frafatad foweat § I 98t SR &1 997 S«

1. A-IIL B-1II. C-IV. D-I

S IR

| ]

. A-IL B-IV, C-I, D-ITI
3. A-III, B-1. C-IV. D-II
4. A-IV. B-III. C-1. D-II

Options :
686340171197. 1



686340171198. 2
686340171199. 3
686340171200. 4



